[image: image1.emf] 

 

[image: image2.jpg]


[image: image3.jpg]


[image: image4.emf] 

[image: image5.jpg]



[image: image6.jpg]



[image: image7.emf] 

   

[image: image8.jpg]



[image: image9.jpg]



[image: image10.jpg]



[image: image11.jpg]¢ TEETTE

Turn Heater switch OFF and
allow air mover to run for
5 minutes to cool before
turning air mover OFF

€ €

Read Operator’s Manual
before using this equipment




[image: image12.jpg]


[image: image13.jpg]



[image: image14.jpg]


[image: image15.jpg]



[image: image16.jpg]


[image: image17.jpg]



[image: image18.emf] 

       


[image: image19.jpg]


[image: image20.jpg]



[image: image21.jpg]


[image: image22.jpg]



[image: image23.emf] 

   


[image: image24.jpg]


[image: image25.jpg]


[image: image26.jpg]



[image: image27.jpg]



[image: image28.jpg]



[image: image29.jpg]



[image: image30.jpg]


[image: image31.jpg]



[image: image32.jpg]


[image: image33.emf] 

       


[image: image34.jpg]


[image: image35.emf] 

       


[image: image36.jpg]


[image: image37.jpg]



[image: image38.jpg]


[image: image39.jpg]



[image: image40.jpg]


[image: image41.jpg]



[image: image42.jpg]


[image: image43.jpg]



[image: image44.jpg]Sy SR
Z s&@mg k2% '39-";% [ ]





[image: image45.jpg]



[image: image46.emf] 

   

[image: image47.jpg]¢ it i 4
J .-.-}-‘-;-.-\L“.-a-.-.-_«u. i

=

i





[image: image48.jpg]¢ it i 4
J .-.-}-‘-;-.-\L“.-a-.-.-_«u. i

=

i





[image: image49.jpg]



[image: image50.jpg]¢ it i 4
J .-.-}-‘-;-.-\L“.-a-.-.-_«u. i

=

i




[image: image51.jpg]



[image: image52.jpg]



[image: image53.jpg]


[image: image54.jpg]REVISED: 01-22-10

BRIDGEPOINT

240 Volt Ersoy svaem’
Operator's Manual

E-TES SD





[image: image55.jpg]Revised: 02/22/10

BRIDGEPOINT

B CVSTEMS o BRIDGEPOINT
SYSTEMS

120 Vol Eesiric fherma

E-TES SD

.................................

Operator’s Manual





[image: image56.jpg]


[image: image57.jpg]


[image: image58.jpg]TN e
\m RS TR Wi e
anasonic Corporanal




[image: image59.jpg]APt
electric thermal energy system
Heating
ATTENTION Air Flow

Turn Heater switch OFF and
allow air mover to run for
5 minutes to cool before

< turning air mover OFF .

Read Operator’s Manual before using this equipment

Overtemp




[image: image60.jpg]


[image: image61.jpg]ATTENTION ,
Turn Heater switch OFF ® o o ¢
“&mhm: Qi T:r:p s;:e?;e Moisture. Mosture
5 minutes to cool before ‘ > :

Read Operator’s Manual before using this equipment

Cord 2 ® T G





[image: image62.jpg]


[image: image63.jpg]


[image: image64.emf] 

       


[image: image65.jpg]



[image: image66.jpg]100-€0-10-561
SELSOE'S/TLE 151 Slvd
SWILSAS WOSNIS INIOdX374





[image: image67.jpg]


[image: image68.jpg]


[image: image69.jpg]



[image: image70.jpg]


[image: image71.jpg]


[image: image72.jpg]


[image: image73.jpg]


[image: image74.jpg]


[image: image75.jpg]


[image: image76.jpg]



[image: image77.jpg]


[image: image78.jpg]


[image: image79.jpg]



[image: image80.jpg]



[image: image81.emf] 

       

[image: image82.jpg]


[image: image83.jpg]


[image: image84.jpg]



[image: image85.jpg]


[image: image86.jpg]


[image: image87.jpg]



[image: image88.jpg]Bty =iad REMOTE EXHAUST
oo 3 e e s CONTROLLER
. @ ete
e e .
arocoosy e e QB

Mado in USA





[image: image89.jpg]


[image: image90.jpg]


[image: image91.jpg]


[image: image92.jpg]



[image: image93.jpg]ot b i S s

> ‘;Lg, o

- S AAAARLRALLTED, R





[image: image94.jpg]AR AR L 5 n L <




[image: image95.jpg]


[image: image96.jpg]



[image: image97.jpg]



[image: image98.jpg]


[image: image99.jpg]



[image: image100.jpg]


[image: image101.jpg]


[image: image102.jpg]



[image: image103.jpg]]
L





[image: image104.jpg]


[image: image105.jpg]



[image: image106.jpg]


[image: image107.jpg]



[image: image108.jpg]



[image: image109.jpg]


[image: image110.jpg]



[image: image111.png]


[image: image112.png]


[image: image113.jpg]



[image: image114.png]



[image: image115.png]



[image: image116.jpg]


[image: image117.jpg]


[image: image118.jpg]


[image: image119.emf][image: image120.jpg]



[image: image121.jpg]



[image: image122.jpg]



[image: image123.jpg]


[image: image124.jpg]



[image: image125.jpg]



[image: image126.jpg]



[image: image127.jpg]


[image: image128.jpg]


[image: image129.jpg]


[image: image130.jpg]


[image: image131.jpg]


[image: image132.jpg]


[image: image133.jpg]


[image: image134.png]


[image: image135.png]


[image: image136.png]


[image: image137.png]


[image: image138.jpg]


[image: image139.jpg]


[image: image140.jpg]


[image: image141.png]


[image: image142.png]


[image: image143.png]


[image: image144.jpg]


[image: image145.jpg]


[image: image146.png]


[image: image147.png]


[image: image148.png]


[image: image149.jpg]


[image: image150.jpg]


[image: image151.png]


[image: image152.png]


[image: image153.jpg]


[image: image154.jpg]


[image: image155.png]


[image: image156.png]


[image: image157.jpg]


[image: image158.jpg]


[image: image159.jpg]


[image: image160.jpg]


[image: image161.jpg]


[image: image162.jpg]RALING

Tenergy Corporation, Framont, CA 94539 Mada in China




[image: image163.jpg]


[image: image164.jpg]


[image: image165.emf] 

 

[image: image166.jpg]


[image: image167.jpg]


[image: image168.emf] 

 

[image: image169.jpg]


[image: image170.jpg]


[image: image171.jpg]


[image: image172.jpg]


[image: image173.emf] 

       



[image: image174.jpg]


[image: image175.jpg]


[image: image176.jpg]


[image: image177.jpg]


[image: image178.jpg]


[image: image179.jpg]


[image: image180.jpg]


[image: image181.jpg]


[image: image182.jpg]


[image: image183.jpg]


[image: image184.jpg]


[image: image185.jpg]


[image: image186.jpg]


[image: image187.jpg]


[image: image188.jpg]


[image: image189.jpg]


[image: image190.jpg]


[image: image191.jpg]


[image: image192.jpg]A
vy
Vi

noa NN
¥\

VAL

EEEEY

A
\

FULURRLRRD

et by




[image: image193.jpg]A
vy
Vi

noa NN
¥\

VAL

EEEEY

A
\

FULURRLRRD

et by




[image: image194.jpg]


[image: image195.jpg]


[image: image196.jpg]


[image: image197.jpg]


[image: image198.emf] 

       

[image: image199.jpg]


[image: image200.jpg]


[image: image201.jpg]'?: -»ﬂ—

o o il |
5,



[image: image202.jpg]


[image: image203.jpg]


[image: image204.jpg]


[image: image205.jpg]


[image: image206.jpg]


[image: image207.jpg]


[image: image208.jpg]


[image: image209.jpg]B



[image: image210.jpg]


[image: image211.jpg]


[image: image212.jpg]





































































































































	�








			NM4250


			Body TEX Thermal Exchanger


			Roto-molded Plastic w/ bracket		


NM4251


			Roto-molded Plastic no bracket





NM4240


			Screw 10-32 x 7/8” BH SS














	�		








Bridgepoint Parts Catalog 


Section XL: E-TES Thermal Exchanger 			Page 1








Discontinued





�





			NS168 


			Washer 1/8” Flat














			








			NM4255 


			Washer #10 Flat SS














�





			NM4238


			Gasket Black Silicone - TEX














�		








�		








			NM4251


			Washer 5/16” Flat SS








�





			NM4241


			Retainer TEX Gasket			

















		








�		








			NM4290


			Nut 5/16-18 Hex SS





�





			NM4412


			Front Switch Panel w/ decal 


			E-TES 240		











		








�			








			








			NM4245


			Clamp Toggle - TEX











			NM4413


			Front Switch Panel w/ decal				E-TES 120








�





		








�





NM5714


			Rocker Switch – 120/240VAC


			DPST








			NM4246


			Stud 5/16-18 x 2-1/2”


			TEX Clamp











			








�





		








�





			NM4446


			Light Green 240 volt





			NM4447: 120 VOLT





			NM4247


			Bar 1/2” x 3”


			TEX Clamp








�			








			








			








			NM4372


Screw #8 x 1/2” SS Pan Head Phillips Self Tapping





�





			NM4448


			Light Red 240 volt


			


			NM4449: 120 VOLT





			





�





�





			








			NM4081


			Nut 10-32 Hex Nylock SS





			








			NM4450


			Relay DPST 240 volt


			


NM4451 – DPST 120 volt





�





			








�





			NM4300A


			Hour Meter 240 volt Round


			











�





			NM4300B


			Hour Meter 120 volt Round


			





			








�





			NM4300


			Hour Meter 240 volt


			Rectangular








			








�





			NM4437


			Rivet 3/32” x 1/8” Aluminum








			NM4452


			Terminal Block








�





Bridgepoint Parts Catalog 


Section XL: E-TES Thermal Exchanger 				Page 2








�





			NM4441


			Ceramic Fiber Paper


			1/4” x 5.5” x 18”








			











			NM4441A


			Ceramic Fiber Paper - TOP


			1/4” x 9.75” x 18”





	





Discontinued





Discontinued





Discontinued





Discontinued





Discontinued





Discontinued











			NM4440


			Ceramic Fiber Board


			1/4” x 6” x 18”














�





			NM4441B


			Ceramic Fiber Paper - BOTTOM


			1/4” x 9.75” x 18”




















			NM4461


			Spacer – Tall PTFE


			E-TES Heating elements








�





			NM4442


			Nylon Block


			1-1/2” x 4” x 1”








			NM4459


			Spacer – Short PTFE


			E-TES Heating elements








�





			NM4443


			Nylon Block


			3/4” x 4” x 1”














�





			NM4371


Screw #8 x 1” SS Pan Head Phillips Self Tapping





�





			NM4415


			Heater Box Aluminum- Large


			E-TES SD





			











			








�





			NM4040


Nut 4-40 Hex





			NM4414


			Heater Box Aluminum


			E-TES





�





�





			NM4261


			Nut 1/4-20 Hex Nylock SS





�





			NM4416


			Side Flaps - Aluminum


			Set of Two E-TES











			








			








�





			NM4258


			Nut 5/16-18 Hex Nylock SS








			NM4273


			Trim lock 3/8” X 1/16” 


			Sold per inch


Side Flaps Edge Protection


			











			








�





�





			NM4041


			Screw 4-40 x 3/4” Pan Head


			Phillips





NM4410


			Bracket Air Flow Switch


Aluminum E-TES			


			








�





			








			NM4256


			Screw 5/16-18 x 3-1/2” Flat Head


			Phillips SS











�





			NM5034


			Screw 1/4-20 x 1”Hex Head


			








			NM4406


			Microswitch w/ Lever No Paddle


			Air Flow Switch E-TES











�





	








			








�





			NM4435


			Air Flow Switch w/ Paddle


E-TES





			NM5430


			Rivet 3/16” x 1/2” SS























�





�





			








Discontinued





Discontinued





�





Discontinued





�





�





			NM5025


			Rivet 1/8” x3/4” Aluminum


			Closed End











			NS116


			Rivet 1/8” x 1/8” Aluminum











�





			NM4445


			Heating Element E-TES


			120V – 1000W





�





			NM4453


			Heating Element E-TES


			120V – 750W


			











			NM4418


Bracket Temp Switch Mount Aluminum - E-TES








�





�





			NM4444


			Heating Element E-TES


			240V – 1550W


			











�





			NM4404


			Thermostat 200˚F Auto Reset


			E-TES











�





			NM4408


			Thermostat 250˚F Auto Reset


			E-TES











Bridgepoint Parts Catalog 


Section XL: E-TES Thermal Exchanger 			Page 3








�





�





�





�





�





�





			NM5440


			Nut M6-.5 Probe Jack

















			NM5442


			Battery E-TES SD Circuit Board


			3 volt lithium 1200mAH











�





			NM5393


			Decal E-TES SD 240V Panel











�





			NM5391


			E-TES SD 240V Panel











			NM5392


			Decal E-TES SD 120V Panel











�





			NM5390


			E-TES SD 120V Panel














�





			NM4437


			TES Decal Kit














			NM5572


			Plate Serial Number E-TES SD

















�





			NM5394


			Circuit Board E-TES SD 


120V & 240V











PHY094-034


			Nut 10-24 Nylock SS














�





NM4240


			Screw 10-24 x 3/4” PHPH SS














			LBMB2404


			Mold-On TES Label 4” x 5”














			LMAN240SD


			Operator’s Manual


 E-TESSD 240Volt 














			LMAN120SD


			Operator’s Manual


 E-TESSD 120Volt 














�





			NM5446


			Bushing Snap-in Wire Guard


			For NM4415 box- E-TES SD











�





			NM5410


			Airflow Switch- Flexible


			E-TES SD











			NM4411


			Bracket Airflow Switch


			E-TES SD











�





�





			NM5400


			Connector MTA 3-PIN











			NM5402


			Connector MTA 2-PIN


			











�





			NM5061


			Terminal Ring #10


			12-10 AWG











			NM4037


Terminal Ring .312” Dia


			12-10 AWG











�





			100004


			Connector FM .25” Insulated


			16-14 AWG











�





			PA079A


			Connector Butt Splice


			16-14 AWG











�





			NM5418


			Wire Tie 4 Inch- Nylon


























�





			NM5416


			Heat Shrink Tubing 3/8” ID


			Sold per Inch








			NM5420


			Sleeve Fiberglass Wire Guard


			5/8” Dia – Sold per Inch














�





�





			NM5421


			Sleeve Fiberglass Wire Guard


			7/16” Dia – Sold per Inch














�





�





�





�





�





�





�





�





			NM4317


			Connector FM .25” Insulated


			12-10 AWG











			NM4031


			Nut 6-32 Nylock SS











�





			NM4036


			Connector FM .18” Insulated


			16-14 AWG











�





			NM5428


			Airflow Switch Assembly


			E-TES SD











			NM5436


			Screw 6-32 x .375” SS PPH











			NM5385


			Dust Cover – Serial Port


			E-TES SD








			NM5434


			Washer #6Lock - Internal Star











�





			NM5395


			Cover Circuit Board – Rear


			E-TES SD

















			NM5384


			Dust Cover – USB Port


			E-TES SD














Bridgepoint Parts Catalog 


Section XL: E-TES Thermal Exchanger 			Page 4








�





			AT204


			Sensor Extension Cord - 10’


			3.5mm plug & jack














			AT206


			Remote Exhaust Fan Control


			











�





�





�





�





�		








�





�





�





			NM4033R


			Wire 10GA Hi-Temp 


			Red Stripe


			Sold per Inch








			NM4033G


			Wire 10GA Hi-Temp 


			Green Stripe


			Sold per Inch








			NM4033B


			Wire 10GA Hi-Temp 


			Black Stripe


			Sold per Inch








			NM5021HT


			Wire 16GA Hi-Temp White


			Sold per Inch








�





�





�





�





�





�





			NM4033


			Wire 10GA Hi-Temp White


			Sold per Inch








			NM5406


			Wire 22GA Black


			Sold per Inch





			NM5404


			Wire 22GA Red


			Sold per Inch








			NM5040


			Wire 12GA Stranded – Black


			Sold per Inch








			NM5040A


			Wire 12GA Stranded – Red


			Sold per Inch








			NM5040B


			Wire 12GA Stranded – Green


			Sold per Inch





�





�





			NM4432


			Inside Grille - E-TES

















			NM4430


			Front Grille - E-TES














�





			NM5412


			Gasket Airflow Switch


			E-TES SD











			PGE5060


			Moisture Probe 


			3.5mm plug & 4’ Cord





			NM5432


			Washer 1/4” Split Lock SS








			NM5066


			Washer 1/4” Flat SS








Bridgepoint Parts Catalog 


Section XL: E-TES Thermal Exchanger 			Page 5








�





			AT202


			Air Temperature Sensor


			3.5mm plug & 10’ cord











			AT200


			Surface Temperature Sensor


			3.5mm plug & 10’ cord











Bridgepoint Parts Catalog 


Section XL: E-TES Thermal Exchanger 			Page 6








�





�





			NM4407


			Power Cord w/ GFCI 120V


12/3 x 50’ – Manual Reset


			E-TES 120





	








			AX33


			Extension Cord 120V


12/3 x 50’


			





	








			NM4407A


			Power Cord w/ GFCI 120V


12/3 x 50’ – Auto Reset


			





	








�





Source End Male 5-15P


Load End Female 5-15R





Source End Male 5-15P


Load End Female 5-15R





�





�





			NM4403


			Extension Power Cord 


10/3 x 50’


E-TES


			








�





�





			NM4402


			Power Cord w/ GFCI240


10/3 x 50’


E-TES240


			


	








�





MALE


L6-30P





FEMALE


L6-30R





� INCLUDEPICTURE "http://www.quail.com/images/symbols/1030p.gif" \* MERGEFORMATINET ���





�





�





			AC8389


			Power Cord 25’ x 6/3, 8/1


			50amp California Standard Ends





MALE


10-30P





FEMALE


L6-30R





Source End Male 10-30P


Load End Female 6-30R





�





�





�





			AC8393


			Temporary Power Box


			6 – 20amp 120volt 5-20R outlets


			1 – 30amp 240volt L6-30R outlet


1 – 50amp Pass Thru (Cal Std FM)


1 – 240volt input connection


	(Cal Std Male)


CORDS NOT INCLUDED





�





�





FEMALE





MALE





�





			AC8390


			Power Cord 50’ x 6/3, 8/1


			50amp California Standard Ends








�





			AC8392


			Power Cord 100’ x 6/3, 8/1


			50amp California Standard Ends








�





�





�





�





�





�





�





�





MALE





FEMALE





FEMALE





MALE





			NM4426


			Adapter Cord E-TES


			3-Prong Twist Lock Plug














		








			NM4420


			Adapter Cord E-TES


			3-Prong Range Plug














		








Bridgepoint Parts Catalog 


Section XL: E-TES Thermal Exchanger 				Page 7








�





�





�





�





�





� INCLUDEPICTURE "http://www.quail.com/images/symbols/1050p.gif" \* MERGEFORMATINET ���





FEMALE


10-30R





MALE


L6-30P





MALE


10-50P





FEMALE


10-30R





�





NM5929


			Power Cord w/ GFCI 240


10/3 x 50’


E-TES240 CSA Version


			











�





NM4422


			Adapter Cord E-TES


			4-Prong Dryer Plug


			











�





�





� INCLUDEPICTURE "http://www.quail.com/images/symbols/1430p.gif" \* MERGEFORMATINET ���





� INCLUDEPICTURE "http://www.quail.com/images/symbols/1430p.gif" \* MERGEFORMATINET ���





MALE


14-30P





FEMALE


10-30R





MALE


14-30P





FEMALE


L14-30R





			NM4401


			Connector 30amp L6-30R


For E-TES Power Cord 








�





			NM4424


			Adapter Cord E-TES


			4-Prong Range Plug








�





�





�





� INCLUDEPICTURE "http://www.quail.com/images/symbols/1450p.gif" \* MERGEFORMATINET ���





FEMALE


L6-30R





�





			NM4398


			Connector 30amp L6-30P


For E-TES Extension Cord 








MALE


14-50P





FEMALE


10-30R





�





			NM4399


			Plug 15amp120V Flanged Inlet 


NEMA 5-15P			





�





MALE


L6-30P





� INCLUDEPICTURE "http://www.quail.com/images/symbols/515p.gif" \* MERGEFORMATINET ���





			NM4405


			Connector 30amp 10-30R


For E-TES Adapter Cords 


			





�





			NM4400


			Plug 30amp 240V Flanged Inlet 


NEMA L6-30P			








�





�





FEMALE


10-30R





�





Bridgepoint Parts Catalog 


Section XL: E-TES Thermal Exchanger 				Page 8








�





�





AT220


			Remote Power Controller


			








AT222


			Remote Sensor


			w/ Batteries








�











AT228


			Modem Kit E-TES RFC


Modem, SIM Card, Cable Connector, External Antenna





AT224


			Screw Kit for Multi-Sensor


			Moisture Probe


			8 – Screw #12 x 3/4” NM5970C


			8 – Screw #12 x 1” NM5970D


			16 – 1/4” Lock Washer SS NM5014





�





NM5944


			Modem E-TES RFC








NM5966B


			AAA Battery


			(Brand name may vary)





NM5900


			Body Roto-molded Box 


E-TES SD LP & E-TES RFC


			














AT226


			USB Cord 6’ E-TES RFC








�





NM5944A


			External Antenna E-TES RFC








�











NM5910


			Circuit Board E-TES RFC








�





�





NM5909


			Control Panel E-TES RFC


			Overlay: NM5909A








�





NM5933


			Washer 3/16” Paint Piercing


E-TES SD LP & E-TES RFC








�





NM5906


			Switch Panel 120V


E-TES SD LP & E-TES RFC


Overlay: 








NM5936


			Gasket  


E-TES SD LP & E-TES RFC











�





NM5937


			Retainer – Air Mover Gasket


			E-TES SD LP & E-TES RFC








�





�





NM5907


Switch Panel – 240V


E-TES SD LP & E-TES RFC


			Overlay SD LP: NM5907A








�





NM5932


			Front Grill E-TES RFC


E-TES SD LP & E-TES RFC








�





			NM4244


			Screw 10-24 x 3/4” PHP SS








NM5930


			Thermostat 210˚F Auto Reset


E-TES SD LP & E-TES RFC








�





�





			PHY094-034


			Nut 10-24 Nylock SS








�





NM5414


			Bracket Airflow Switch


			E-TES SD LP











NM5436


			Screw 6-32 x 3/8”PPH SS








Bridgepoint Parts Catalog 


Section XL: E-TES Thermal Exchanger   	  			Page 9








�





�





�





NM5428LP


			Airflow Switch Assembly


			E-TES SD LP








NM5445


			Bushing Snap-in Wire Guard 








�





NM5723


			Screw 8-32 x 5/8” PPH SS











�





NM5916B


Heater Box – Top Plate 


E-TES SD LP & E-TES RFC


			











�





NM4042


			Connector Butt Splice


			18-22 AWG











NM5916


Heater Box - Bottom Plate 


E-TES SD LP & E-TES RFC


			











�





NM5944B


			Stand-Off Modem Mount


			








�





�





NM4314


Adapter Electrical Connector


F-M-M 1/4” Spade


E-TES SD 240V


			








�





NM5908


			Control Panel E-TES SD LP


			Overlay: NM5392B











NM5025


			Rivet 1/8” x 3/4” aluminum








�





�





NM5934


			Wiring Partition


			E-TES SD LP & E-TES RFC





NM5032


			Washer #8 Flat SS








�





NM5965


			Battery 3V Coin 


			RFC Circuit Board





�











�





NM5944C


			Internal Antenna RFC


			








�





NM5917


Bracket Air Flow Guide


E-TES SD LP & E-TES RFC


			








NM5944D


			Connector Cable Assy 


Modem to External Antenna RFC


			








�





Bridgepoint Parts Catalog 


Section XL: E-TES Thermal Exchanger   	  			Page 10








NM5920


Heater Coil Assy 


E-TES SD LP & E-TES RFC





			120V - 3000W 








NM5924


			Screw 8-32 x 5/8”PPH SS








NM5936


			Screw 6-32 x .375” PFLH SS








�





�





�





NM5970C


			Screw #12 X 3/4” Wood PPH SS








NM5970D


			Screw #12 X 1” Wood PPH SS








NM5755


			Screw 8-32 x 1/2” PPH SS








�





NM5922


Heater Coil Assy 


E-TES SD LP & E-TES RFC





			240V - 5760W








NM5793


			Nut 8-32 Nylock SS








�





�





�





NM5923


			Cap Red Vinyl #8


Thread Protector








�





NM4244


			Screw 10-24 x 3/4” PPH SS











NM4116


			Grommet 3/8” ID

















�











�





�





NM5947


			Screw 10-24 x 1/2” PPH SS











NM5099


			Rivet 3/16” Split Type








NM4255


			Washer #10 Flat SS








NM4400C


			Plug 30amp 240V Flanged Inlet 


4-PRONG NEMA L14-30P		E-TES 240 CSA Version	

















�





�





�





MALE


L14-30P





�





NM5907C


Switch Panel – 240V 


E-TES CSA Version


			 











�





Bridgepoint Parts Catalog 


Section XL: E-TES Thermal Exchanger   	  			Page 11








NM5913


			Bracket Airflow Pressure Hose


			E-TES SD LP








NM5967


			Battery 9V						RFC Circuit Board


			Brand may vary





�





�





NM5968


			Holder Battery 9V					E-TES RFC 


			








NM5914


			Barb 3/32” x 6-32 Nylon


Airflow Pressure E-TES SD LP











�





�





�





NM5914A


			Tubing 3/32”


Airflow Pressure E-TES SD LP




















